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22 Z | No K4 Fhp RO
85cc | 34 ERZAH 107 YZ85
85cc | 71 FyoEOY 137 YZ85
85cc | 83 EHIV* 117 KX85
85cc | 88 BFO~+ b 137 KX85
85cc | 131 BRIV 147 KX85
8bcc | 624 | BEMVUAFAY 137 CRF150
E—+H1
[[=Kiva No K% F fim N4
1 71 FVyoEOY 137 YZ85
2 131 BRIV 147 KX85
3 88 BFO~F b 137 KX85
4 624 | BWV A FAY 137 CRF150
5 34 EREZAH 10z YZ85
6 83 EHIY* 117 KX85
E—Fhk2
Nz No K% F fim N4
1 71 FVyoOY 137 YZ85
2 83 EHIV* 117 KX85
3 624 | BEWVTAFAY 137 CRF150
4 131 BARIYY 147 KX85
5 88 BFO~+ b 137 KX85
6 34 EREZAH 10 YZ85
b—hk1 bE—Fk2 =
[=Niva No K% JIE{Z JEL H1+H2
1 71 ZVoOY 1 1 2
2 131 BRIV 2 4 6
3 624 | BEWVTAFAY 4 3 7
4 83 EHIV* 6 2 8
5 88 O~ k 3 5 8
6 34 EREZAH 5 6 11




